Balancing Chemical Reactions

Complete the equations wherever necessary. Then, balance them.
1) FeCl, + NH,OH - Fe(OH), + NH,Cl

2) Au.0, > Au + o

3) Magnesium plus oxygen yields

4) Zinc + Oxygen ~>

5 Hydrogen Sulfide -

6) Potassium Chloride -

7) Silver plus copper nitrate yields -

8 Aluminum Hydroxide + Sodium >

9) Aluminum plus lithium iodide yields

10) Aluminum plus lead (Il) nitrate yields



Balancing Chemical Reactions

Answers
1) FeCl,+ _ 3 NH,OH->Fe(OH),+ __ 3 NHL(I

) 2 AuO,> 4 Au+_3 O

2

3) Magnesium plus oxygen yields

2 Mg + O, > 2 MgO

4) Zinc + Oxygen ~>

2Zn+0,>22Zn0

5) Hydrogen Sulfide -

2HS—>2H, +5,

6) Potassium Chloride -

2KCl > 2K + Cl,

7) Silver plus copper nitrate yields >

Ag + Cu(NO,), > no reaction. Silver is not stronger than copper.

8 Aluminum Hydroxide + Sodium >

AI(OH), + 3 Na > 3 NaOH + Al

9) Aluminum plus lithium iodide yields

Al + Lil > no reaction. Aluminum is not stronger than lithium.

10) Aluminum plus lead (II) nitrate yields

2 Al + 3Pb(NO,), > 2 AI(NO,), + 3 Pb
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